I AT AT A

FljEEE g

Je iy (a8 0 00895

P BB E U

P

/T T Eall I e e v
YLEq 307 BTG R (D 23 L0.06(A) @) ATl - Flf# T | A -

AP

R (A B H )

PERESR
(BHET - —— IR LA S )
T T EDME] T A
PRI UL O FIES 00D (LT 0H)) VI3 1325A F meV it » TS\ g -

HEFIE T '?‘pkﬁijﬁ i ¥

‘q—rf ‘ﬁF[}IF —{—{EI

(7 8)

.
Rt IRk AT e S 5
S = Hp S = Irkte SR S (B ]
G R L AN T jif Ry S AT @(g 575
a laa6nh 7 9 (
" 125,476,374
B IE ] lfﬁﬁ”ﬁ” (07 89,896,374 16T
e : ~ FU | 3wk 35,580,000 H
(7 2) 1)
FUSGR 7 AT B T % L g 5
pui%i AT 25,000,000 19.92% SIAFE43.00 7
25,000,000 4557 A i
(3
S F N 92
A T Tl
150,476,374

( HFA[ 25,000,000 33 A
qg';‘ E[ [ﬁ = A qg';ﬁr]'-»[*
[ [eviedEig
89,896,374 & A &,
35,580,000 H 4t¥)




I AT AT A

Lo

N

w

LT T G A I P I A T S

JPPPLEEE LGP PYI3.25A [k f [ TIPS g () 23 18.288 [T ] AR (SRR E AR pORSE T I -

T IR (71 PFY) AT13.25A LFUaer= i = 6 f 387 » I 0T 7 I o 5 [T IR g AR LTV o ) O T i T
R LI A - D19 - 1 AR~ Y TR ) [ 17 RS 2 %~ AR R R AR gy S TN - < R T [ P
SRy » 2] PIRETIE 5 R 31 7 T S LRy T R 2 930 7 B 50 Ry o =

T B A T RS AR 1T R B T i g{'ﬁffﬁ/g/#ﬁ“y’ﬁf/L/gﬁ/‘?ﬁéfz‘,ﬁglgﬁ (#EI=f /ﬂfvﬁyf% 7 ff/fﬁ =l SRR ) 7
TG /9}#?’75” 55'#//754{/5//%@;//,577??% B B [P P [

R/ IRt ey LU Rl e VR /T A e S M S e R e YA e STl

YL
TR T TR
oS IR LTI O T TR LT (AT TR [ A O SR 1T

YWE R
AT EEET TR R
- TR IR TR SR 1 I R T R H 7 I T
o THEERT RS TR -
P T FT ) RS T AR

WIS [ AR PRI 9L 1A



I AT AT A

.
A B

epp PG CliE T S SRETTE
() el g Ov) D) ()

T iy T il il i

oF Tl e

B. I ALY s s~ pE PR
(@) T

Tognl %

Lo FEL= S50 (PRI ) I B SR S R

2 FUHRFRREBE TR BRI RS R R~ 5 A T 1)
L

((a) x100)
“UHE SR

5 P - ARSI AR ORISR 7 PE) (T8 o fiy= @ F1 T pAref 185G Tl ORI i

L [ R« B PR U AR DL S T B P T » RS B S0 A B PR

W AR : PTG AT~ = 55 € B (TP BT £780) » )R B G0 ) 2 Pl 74317

HoH: IR
(1)

i FiH)
(s~ Rt PO A - )




